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1. BEikESE X

(%) 1.29 ha)
B HHEIC L > THIROLE S L X—E 2 1L+ 5 X

75 BB ER 1

X 4 BT ZimfE | AEKROERK i & X i 2

B ST HX 2 % 0.43  ha|# 0.12  ha %f@g?ﬁh@jﬁgﬁﬁigggggm 1
THTHIIX 1 9 % 0.02 half 0.06 ha 2
/)N T X 7 o 0.28 ha | ) - ha [HI[X. D FE 1L 5
R HTHIX 3 6 ¥ 0.12  hal# - ha | H1 XD FE 11 7
o FETHIX 3 7 % 0.30  hal|#f 0.65 ha 7
JE[EHT H X 2 ¥ 0.14  ha|f 0.05 ha 8
FIEHTHIX 1 ) 0.003 ha|#9 0.16  ha 9

ARt (THLX) ¥ 1.29  ha
2. BANBEHX (K9 0.55 ha)

T EHEI EHEE OB K o TR 2 #iX

X 4 B HmEfE | AEROEM i & X2

R AT HIX 8 %) 0.0006 ha|# 0.07  ha 1
B SERTHIK 1 0 % 0.3 hal# 0.31 ha %E\gg?ﬁfjﬁ ?ﬁ%ﬁé%?ﬁm 1
JIHTHIX 2 0 #0.05 ha|#J 0.05 ha 2
FIKHETHEX 2 5 % 0.03  ha|#y 1.02 ha 3
SRAEHT X 3 #0.05 ha|#) 1.62 ha 4
/1N I HT HiL X 4 ¥ 0.02 hal|f 0.63 ha 5
/NFHETHIX 1 7 #0.05  ha|#J 0.05 ha 5
FAAERT Hi X 6 ¥ 0.04  half 0.04 ha 6

A & (BHf1[X) % 0.55  ha
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